Solution of ECE 315 Test 9 FO8

Find the numerical values of the constants.
1. 4rect(2t)*68;>Asinc(bf)60(f)
4rect(2t)*58<L>Zsinc(f /2)><(1/8)61,8(f):(1/4)sinc(f /2)51/8(1‘)

2. ACOS(b(t+C))L>6|:5(f ~3)+5(f +3)]e

cos(ot) =2 [3( 1 ~3)+5( 1 +3)]

12c0s(67t)«=—6[ 5( f —3)+5(  +3)]
12¢0s (67t~ 2)) = 6[ 5(  —3)+ 5( f +3) e 1+

3. 10sin(20xt)cos(1007t) = A[ §( f —b)+5(f +c)-5(f —c)-5(f +b)]
10sin(207t)cos (1007t )« =—10 %/ 2)[ 8( f +10)-( f —10) ]*(1/2)[ 6( f - 50)+5( f +50) |

10sin (207t) cos(100zt}e—F—( 5/ 2)[ &( f —40) + ( f +60) - &( f —60)-5(f +40)]

a %(Atri(t/b))%j%nfsincz(3f)

%(5tri(t/3))<L> j2n  x15sinc?(3f)

%(5tri(t/3));> j30x f sinc? (3f)
5. Asinc(bt)@lz rect(4w)

sinc(t)<L> rect( f )
sinc(t)@ rect(w / 271)
(1/ Bn)sinc(t / Bn)@ rect(4w)
(3/ 27r)sinc(t / 8n)@12 rect(4w)



Solution of ECE 315 Test 9 FO8

Find the numerical values of the constants.

1

2rect(3t) #5, Asinc(bf )50 ( f)
2rect(3t) « 8, «F—(2/3)sinc(f /3)x(1/7)s,,,(f)=(2/21)sinc( f /3)5,, ()
Acos(b(t + c))@S[S( f —5) + 5( f +5)}e‘j‘"”rf
cos(10m) = [ (1 -5 + (1 +3)
16cos(6t)«—=—8[ 5( f —5) +5(f +5)]
16c0s(67(t - 3))—=—8[ ( f - 5)+ 5(  +5) Je """
(
18sin (507t) cos (2007t} —=—18x 1 2)[ 8( f +25) - 8( - 25)]#(1/2)[ ( f —100) +5( f +100)]

10sin (207t)cos (1007t} —F—( 9/ 2)[ 8( f — 75) + 8( f +125)-5(  —125)-5(f +75) ]

%(Atri(t /b))~ j80r  sinc? (51 )

%(8tri(t/5))<L> j2nf x 40sinc? (5 )
%(Stri(tls))@ 807 f sinc? (51 )
Asinc(bt)@9reet(12w)

sinc(t)<L> rect( f )
sinc(t)%rect(w / 27:)
(17247 )sinc(t / 247 ) = rect(1200)
(3/87)sinc(t/ 247 ) = 9rect(120)



Solution of ECE 315 Test 9 FO8

Find the numerical values of the constants.

1

3rect(8t) 8, Asinc(bf )5c ( f)
3rect(8t) 5, < (3/8)sinc( f /8)x(1/2)3,,()=(3/16)sinc( f /8)5,, ()
Acos(b(t + c))@lzl[é( f - 9) + 6( f+ 9)]e‘j’rf
cos(18m) = [6( 1 ~9) +5( f +9)]

28cos(18nt);>14[6( f-9)+5(f+ 9)]
28c0s(187(t ~1/2))e-=—14[ 5( £ ~9) +5(f +9) e "

15sin(907t)cos (4007t )~ A[ 8(  —b) +8(f +c)-5(F —c)-5(f +b)]
15sin(90rt)cos (4007t} =—15x (j 1 2)[ ( f +45) - 5( f - 45) | (1/2)[ 8( - 200) +5( F +200) ]

15sin(907t)cos (4007t )« j15/ 4)[ 8( f —155)+ 5( f +245) - 5( f — 245) - 5( f +155)]

%(Atri(t/b))@ j127 f sinc? (41)

%((3/ 2)tri(t/4));> jort x6sinc?(41)
%((3/ 2)tri(t/4))e-F— j12z f sinc? (4f)
Asinc bt )~ 22rect(160)

sinc(t)<L> rect( f )
sinc(t)%rect(w / 27:)
(17327 sinc(t / 327) = rect(160)
(12/167)sinc(t / 327) = 22rect (160



